Ze&fa/ee z 3 Maé/e,e—-g;o,e/m/mé Wéﬁ?
A x€RID. Ko Tomnscondntol = X ?

Foe. PIT)=atal of
)= ata, b rad T 62[7:7/ def) e H[p}':”c?w/z[
One can shotr Bt *75’9/9431'»//';4/
Pe

1P00) < cGsd) HI T

@g ( Mahlee (32) 7oe a-e. xef, e exporet-
camats e /'M/Afoyea/ :

[/ /Dﬁoveﬁ/ % Sfﬂ{nq/g-a,é 6y
A : — ‘
[t = ait’ <<[of = Dicphardr,
I=1 / / Og faths 69’7%
(- X7

% g€ /Ba( Js w@ﬁ«g—@gg%@\.’/ma% i Fee>d:
|<p>+g/s Il
has M//’ﬁ/‘b‘% iy selutions (13)<Z iz




_@#(gpﬂndw%f/ Lot 722/'—9587/& afo% o'zl
(o et RS

ﬁJJUm@ Mﬂf -ﬁ/ /7.4 Jroper 0%/;@ Ja&m@
7770% %/e a.e XéZZ —72[) s et el -oppeokrmadl.

/%OVea/ ? /f,//eméoaé ///@eiw/ 5 T8

F /OZJJ on Aomoie/zeaw Jfazgf

j -Z/a/ﬁé/(af/h ,;Q*/@% covel = {f
Foe gel? 5% zf (P <Bp>+g): ()= XZf €l

// ‘/’L/(ﬁuy
#( ;I/e?) Oof
[5)={ﬁé e //U'//<Ej

weh ot

/Z?eog, Zéé@ 4 s 2@@5 c?/a/moxima,%
3)3>o /, Qféf((e——ﬁ) «7@& ) /ﬂ/Z(é,é m? 7.



Stectspy
Stdy ditebitor of L <afy(e”)

74,72 '{ xetl: ﬂﬁy 0;1 e /e_;;yf.
TF % //%/< oo “f)gen z%e Sﬁ‘@/oq/zq,é &)/OLL
Followss Leom b Bereld-Contotl, lemma.

%/’)&Zl‘l@gﬁ”ce eStrnales .
For diswete D c/}?“/’;/ a{[A)=1/o// %A/A)_
J7£ A=2®7@.-,(D2ﬂf</ C/[A)://Zf,/\._./lif;c//

“Thm ( A lecnbock —-/%Wd e ndewnd T ond £6000)
% h: IT— S’/a/ﬁ[/ﬁ) f f@«%ﬂom}p,g m6p.
<=2z
Frrsume ot V4
sup &Z//A}I[X)) = P [%%)
Then 5‘6,:(@50 ( c/e/aeﬂaﬂy on? o7 de;[é)}: Veelop)

Y
[{xel: 20/*/6596/(/&)]/<C‘(}2“) M

a
a/{-/



We apply Thn o M) =y’
oo el e sl Ble)={xeI: [vhid) <€)
/

oy {xeI: 27 HHHE)] C,Lrﬁ/gﬁfj)-

Del. £ R-K s ’(g,_g)—gm@ P
Y intewnat) Z <K setéing f’—’e;“,@/fé

/{xe]‘: /Zé()/<sj/s_ c [l]—%)%/j'/
L_/W—/

70;_:. En - (Cjoé)—gow/_
RO ( /%/Di%cw/ 0/7% on a@//@)

"
| 75e can chocse. X, X% €L l&'—)é;/;—-_é—’(—/ I#1,

[Ax%)] < €.

Tike K= degt) 14
1T (r=5)

Then 20— =Hle) it 77 andd
= [[(>%) 72
ALl /
7]
P = %p/ﬂ/éﬁi’ W/ )

7%0/‘ ¢ Im /9//'6& the eiﬁm%,




oot of T (e 2-din. letiies)
e/l is called E/E/’mizé/z/e i v 2/ —7&/@ A=2.

Zem- f7/ /ajﬁ,é(,ca /}éof : /\08[0,0’_‘) ﬂn/'faz /Dﬂ'/ﬂ?‘ Véﬂéoxz
(up o 7).

[ Su pose v/%wZL Fu, 1 é/mB/O,Q- //nm% /hQ/WM
725;7 g =Zue2yc/ s a Jattice -

vl 1) < Il 1<, et W) z/o//ﬁ'?/z)———%]

Since ,DO%ﬂomim& are (G d)‘faa% 5
3
= . /B, [8)] << C}—f—) = Bl —

g Alm. U€ fﬂ/'m. e ?6/*/

/Z%,e /%zm/‘ Live = 7&:&25/ Kﬂ; érj ﬁg@ éo) — /@/

iz 1= =) il 1B, 018wl
( 0% " / /bJ’Ou/OZ wh,Z%aoZ/oZL Lemma.

= (¢ V&)= (5 1. |




Verifying that _df Lyyi!)=
~ 4 poitl 0/7‘/_.(6 //]2 S Ldy>
a, CQ’ /) K . [Q =< €0 0/> +/

« /2 7 —
710 confzmodi/yj @efma//%
Qe=("ole A&IQJH’_:A/Q]/ &© edﬂ"(AA/V)
~~— L’—W/_,\/
contracny expandling

@C)“ Aé/EG/’L/? S Uy = St

(@ el g

ea/ﬂA(Ak*’)/) is fixed éz 4.
(074-“47&)%7=(¢7+(z@y)€3{+,)ﬂm A Uk+<%7>&/f)
= () + Zox o (%)

—

Civeyy, A=Z5@. 0 ZE < Z/j’*/
e need o estimte dayd))



Y e g2

T ake an omf?gonoﬁma,g et {@;ﬂ%_,]‘ C/ffA/)l/
and com/b/e}fle it o an oeonormal,  basis

{U'//-“ Uy, Qal-l-/} O% /)QA & /g&/ﬁ'

Wen Yy U, LU +BEdy s a
Se {'ﬁaf g‘//\.”/lgt—zv’/'/l...d%_.//l[aﬁf,} +§Q/ﬁ)

4
‘LJ'[?W@ //8,/[.,‘4%}//2,\5 a?._l_gz ;4

(8. 180 )ty = (Bra< i) B o n et
6 /nee '6708 5@5}5 s Of’/%@mma«gj
[ (8- w)”ﬁma?’//z/w/

K
cﬁ-%&%&)
25ith ,ZKQ'Za 1.

—iree £ G propen offine subpac
)oK /&+{§Q’7€[@/>O,

xel

basis Qg &/




